zD2

AN VZX=Z2J - FXb BMEISNLIEELZFHNT, O9~TADFNEFRIZOVT
A~DD ) bbb BYLREL % —DRY, ABZEOZOD2 (YR I
LA L% dwv, REIZA), (B), Co3fEIcT»hTwT, £ T26MTY,
WINROMES —BE L2 LN TETEA, MEZHERLILS, 727612
EZRALZ SV, —HOMEREMZH 10T, MEMFICAELTS L
XWTLZX I,

(A) Listening 1 ~10(49~58) Tix, |/FERTF IV ADH L ICHEE i X T3
DT, TNICHTERDBULEZEZRI R SV,

Example

(A) Because she is always late.
(B
(C
(D

Because the movie will start soon.

Because the busy roads may delay them.

=~ ~ Nt

Because the man will not wait any longer.

Listening 1
49. (A) At the college. (B) At the library.
(C) At the bus stop. (D) At the cinema.

Listening 2
50. (A) A scarf and some chocolates.
(B) A bottle of perfume and some chocolates.
(C) Some flowers and a scarf.
(D)

D) A bottle of perfume and some flowers.

Listening 3
51. (A) It's too far away for the man.

B) It isn't quiet enough to talk.

i

)
C) There aren’t any tables free.
)

D) The woman already has dinner plans.

_9_



Listening 4
52. (A) The $12 case. (B) The $15 case.
(C) The $20 case. (D) The $25 case.

Listening 5
53. (A) She is worried about the weather.
(B) She would like to go shopping today.
(C) She is determined to go surfing.

(D) She wants to buy a new surfboard.

Listening 6
54. (A) 4:30 pm at Gate B4. (B) 4:30 pm at Gate C12.
(C) 6:30 pm at Gate B4. (D) 6:30 pm at Gate C12.

Listening 7
55. (A) Shota Suzuki. (B) Yuna Yamamoto.

(C) Kenta Kobayashi. (D) Naoko Nishimura.

Listening 8
56. (A) Onion soup. (B) Corn soup.

(C) Caesar salad. (D) Garlic bread.

Listening 9
57. (A) 10:00. (B) 10:30. (C) 11:30. (D) 12:00.

Listening 10

58. (A) San Francisco. (B) London.

(C) Sydney. (D) Vancouver.



(B) Listening 11~12(59~63) Tix, HiEZH VT, AR S AEBICHT T 5K
LB LB R 2RO EWv, 4B, Listening 11 IZIXEMAH =D, Listening 12
WIZERIZ=Z2H 0 5, HlEIEH Y TH A,

Listening 11

59.

60.

Which of the following is most important when caring for a gecko?
(A) Temperature. (B) Humidity.

(C) Cleanliness. (D) Exercise.

What does the Leopard Gecko eat most often?

(A) Pellets. (B) Worms. (C) Crickets. (D) Potatoes.

Listening 12

61.

62.

63.

On average, how much cheese do people in Switzerland eat each year?
(A) 10 kilograms. (B) 15 kilograms.

(C) 22 kilograms. (D) 26 kilograms.

When did people in Japan stop eating cheese?

(A) In the seventh century. (B) In the eighth century.

(C) In the ninth century. (D) In the tenth century.

Why did the Meiji government decide to reintroduce cheese into
Japan in the mid-1870s?

(A) It wanted to copy American food culture.

(B) It wanted Japan’s soldiers to become stronger.

(C) It wanted to make money by selling cheese to other countries.

(D) It wanted to provide jobs on the dairy farms in Hokkaido.



(C) Listening 13~14(64~74) TI¥, #EFEZH T, FRCH LT, HRI SN
FZEXDONEDIELITHXA) TRUE %, 1EL L &IFHIEB) FALSE 2 # U 7% &
W 738, Listening 13 IZIXEAS/ND, Listening 14 [ZIZHERHOH D T
o BIEIEDH ) TEA

Listening 13

You will hear a tour guide giving some information to listeners. Look at

the 6 sentences below. Decide if each sentence is TRUE or FALSE. If it
is TRUE, choose (A). If it is FALSE, choose (B).

04.

65.

66.

67.

68.

69.

Listeners should hold their questions until the guide finishes.

(A) TRUE (B) FALSE

Users need an ID card every time they enter or leave the library.
(A) TRUE (B) FALSE

Users can check out books at the desk on the left.

(A)  TRUE (B) FALSE

Users need to ask the assistants before using the computers.

(A) TRUE (B) FALSE

Users can look at maps to help them find subject areas.

(A) TRUE (B) FALSE

The guide will explain how the English reading books are organized.

(A) TRUE (B) FALSE



Listening 14

You will hear a man called Mike talking to a woman called Liz about

planning a birthday party for their son called Alan. Look at the 5

sentences below. Decide if each sentence is TRUE or FALSE. If it is
TRUE, choose (A). If it is FALSE, choose (B).

70.

71.

72.

73.

74.

Alan had a surprise birthday party last year.

(A) TRUE (B) FALSE

The couple will invite 20 of Alan’s friends to the party.

(A) TRUE (B) FALSE

The couple think it will be too hot to have a party in the park.
(A) TRUE (B) FALSE

Alan will go bowling for the first time at his party.

(A) TRUE (B) FALSE

They will have pizzas delivered to the party.

(A) TRUE (B) FALSE

BT %
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